

Multiple sequences of Cotton-Soybean, 6 rows of soybean bordered by a single row of cotton at either side (Rajni Sinha)

Supplemental Irrigation in a Legume-Cotton Production System (ອິນເດຍ)

ຄອອະທິບາຍ

Supplemental Irrigation (SI) offers a solution for irregular rainfall, as it provides a limited amount of water to essentially rainfed crops consequently ensuring good plant growth. Furthermore, SI provides the opportunity for a more diverse production system such as a legume-cotton system in which chickpeas are cultivated as a winter crop, and soybean and cotton are inter-cropped in the summer.

production system such as a legume-cotton system in which chickpeas are cultivated as a winter crop, and soybean and cotton are inter-cropped in the summer. The state of Madhya Pradesh (India) has an average annual rainfall of around 1170 mm. However, data shows a declining trend. It is characterized by a monsoon period from July to September. Winter is from December to January and the summer is from February to March. The rainfall is irregular, resulting in crop failures, land degradation, nutrient leaching and shortened growing seasons. This constrains the agricultural sector, upon which 74% of the population is either directly or indirectly dependent. 38% of the agricultural area is intensively/conventionally irrigated. The majority of the water is obtained from groundwater which has led to over-exploitation. To sustainably improve the agricultural sector, the International Center for Agricultural Research in the Dry Areas (ICARDA) introduced Supplemental Irrigation (SJ). This is a practice in which essentially rainfed crops are cultivated rather than more water demanding crops. SI ensures a sufficient amount of water as rainfall satisfies the majority of the crop water demand. Water availability is not sought in (fossil) groundwater extraction, thus avoiding over-exploitation, SI prolongs the growing season and enables more diverse farming systems by crop rotation and inter-cropping. In 2018, a reservoir was constructed, with a 900,000 litres capacity. Every rainy season groundwater rises to the surface, indicating that the soil is fully saturated. The reservoir is filled by pumping the surface water from shallow wells. This is consister of 1) excavating the soil; 2) stone pitching the excavation; 3) installing polysheet to avoid water losses through infiltration. The water from the reservoir is distributed over the field by a portable (wheeled) sprinkler irrigation system. Hence, pumping from the reservoir is required. The souther from the reservoir allows for crop rotation with a winter crop, namely chic harvested water.

A great advantage of SI is that it leads to a year-round income through a diversified production system with an additional winter crop. Farmers also value SI ensuring stable

ສະຖານທີΓ



ສະຖານທີ່: Madhya Pradesh, Central India, ອິນເດຍ

ຈຳນວນ **ພື້ນທື ທືໃຊ້ ເຕັກໂນໂລຍີ່ ທື່ໄດ້ວິເຄາະ**: ພື∏ທີ∏ ດງັວ

ການຄັດເລືອກພື້ນທື ທືອີງໃສ່ຂໍ້ມູນທາງຜູມີສາດ • 78.61962, 22.97527

ການແຜ່ກະຈາຍຂອງເຕັກໂນໂລຍີ: 🛛 👼 ສາຍາຍຢຫຼັງ 🛾 ວວາ 🗍 ຼື ມີພີ່ [approx. < 0.1 ກິ 🗋 ລ 🗍 ດມີ (10 ເຮັກຕາ))

ຢູ່ໃນເຂດປ່າສະຫງວນທື່ບໍ?: ບ[][] ມ[]ນ

ວັນທີຂອງການປະຕິບັດ: 2018

ປະເພດຂອງການນໍາສະເໝີ

- 🛛 ດຍຫຼົນນະວັດຕະກອີຄິດຄົມຂອງຜູມອີ] 🛱່ຼີຕິນ ເປັນສ່ວຼົນ[_ື່ ອີຂອງລະບິບພື້ມີເມືອງ (>50 ປີ)
- 🛛 ນ🗋 ລຍະກ**ິກສ**ອງ / ກ[ິ]ານຄິ<u>ມ</u>ີຄວ_ิค
- 👖 🛛 ດຍໝືນ 🛛 ຄງການ ການຊຽຍເຫຼືອຈາກພາຍນອກ

yields, thus making them less vulnerable to rainfall irregularities. Also, the diversified system yields, thus making them less vulnerable to rainfall irregularities. Also, the diversified system protects the crops better against epidemics. And as there are legumes included in the system, the soil quality is improved, lowering the required amount of nitrogen fertilizer. Nevertheless, SI has some weaknesses. For example, the implementation of SI is difficult for smallholder farmers as they lack the area for a reservoir. In addition, the initial costs are high, so adoption may be restrained by the lack of available funds, especially for smallholder farmer. This specific SI, by water harvesting (extracting shallow groundwater) is not suitable in areas of poor groundwater recharge. But the concept of SI can be applied. To conclude, where it is technically and financially feasible, SI allows for more intensive, diversified and stable production system under climate change induced risks, hence supplemental irrigation is an important technique to improve the livelihoods of farmers exposed to climate change.



ICARDA Cotton+Soybear A Dist. SEHI

A picture showing the rows of soybean and cotton in a crop rotation system (Rajni Sinha)

ການ[] 🗟 ຍກ**ິເກ**[] ນ[]ີລຢ

ຈຸດປະສິງຕິນຕໍ

Π

- 🔲 ປັບປຸງ ການຜະລິດ
- ຫຼຸດຜອນ, ປອງກັນ, ຟື້ນຝູ ການເຊື່ອມ 🛛 ຊມຂອງິດ
- ກ້ານອະນຸລັກ ລະບົບນິເວດ
- ມີບັນຮັກສານฏ / ນฏ&ฏิญิ⊡ ປະສິມປະສານກັບ ເຕັກ[] ນ[ີສີຢຼ] ປີກປັກຮັກສາ / ການປັບປຸງຊີວະນາ]ີນ ຫຼຸດແຮ່∃ນຄວາມສຽງ ຫາງ[] ພິພັດຫຼາມະຊາດ
- ປັ້ບຕິວຕຫຼືຍົການປຽືນ[ປງິນຟฏີອາກາດ / ທີ່ຮີຼฏີຍ[ຮງ] ລະຜົນກະທົບ Π ຫຼຸດຜ∃ນຜົນກະທິບ ຈາກການປຽນ∏ ປງິຼαຝອອາກາດ
- ສົ¶ງຜົນກະທຶບ ທາງເສດຖະກິດ ທີ່ເປັນປະ∏ ຫຍດ

ຈຸດປະສິງທືກ່ຽວຂ້ອງກັບການເຊືອມໂຊມຂອງດິນ

ສອງຜົນກະທິບ ທີ່ຍີ່ປັ້ນທາງບວກ 🗌 🗃 ສິງຄົມ Π

ປອງກັນການເຊືອມ∏ ຊມຂອງິດ

ຫຼຸດຜູ້ອື່ນການເຊື້ອີມ[] ຊຸ່ມຂອງິິດ

ກ້ານຟື້ຟຟ / ຟືຟຟູດິນທີ່ຊຸດ ຊຸມ ປັບຕິວຕ<u>ຫ</u>ຼື¶ນເຊື_້ອື່ມ∏ ຊ[ົ]ມຂອງິ<mark>ຫ</mark>

ບ[]ສາມາດ**[** 🖳

ການນຳໃຊ້ດິນ

ການນອງ 📓 🖞 ປະສົມພາຍ 🛛 ນື້ນີ້ທີ່ມີງົວກັນ: ບ[]] ມ[ນ

A field of Chickpeas (Rajni Sinha)

ດິນຫຼືປຸກພືດ



- ກ•້ນປູກພືດປະຈ∄ປີ: ການປູກພືດປະເພດເສັ່ນີ∏ ຍ ຝ∄ຍ, ພືດຕະກູນຖື⊟ 🛛 ລະຖິຊີ🗋 ປກພືດຕະກູນຖິຊີ 🗋 ລະຖິຊີເຫຼືອງ ຈฏນວນ ລະດູການ ປູກ []ນີຢຼິຶ ฏ: 2 ມີການເຝຶກຢູ[້]ກພືດ[ັບ**ບັສ**ຫວ[]າງ**ຍ[**[]ມ[]ນ
- ມີການເຝືກຢູ່ກພືດ∏ ບບ∏ູນວຽນີບົ∏ຟຼ]ນ

ການສະໝອງນ້ຳ

บคิฝัม

- 🔳 ປະສິມປະສານ ກັນລະຫວ[າງງ6ພິນ 🛛 ລະເອຊິນລະປະທານ
 - ນฦ∏ 🗐 🖣 ຊິນລະປະທານ ພລັງຢ່ຽງດຽວ

ການເຊືອມໂຊມ ທີ່ຕ້ອງໄດ້ເອົາໃຈໃສ່

ດິນເຊາະເຈືອນ ໂດຍນ້າ - Wt: ການສູນເສຍຊັ<u>ນ</u> _ ဨິດິນ / ການເຊາະເຈື_້ອີນ ຜິວ[] ฏิถิม



ດິນເຊາະເຈືອນ ໂດຍລິມ - ການສູນເສຍຊັ້<u>ນ</u>∏ ∄ດິນ



ການເຊື້ອມໂຊມ ຂອງດິນ ທາງເຄມີ - Cs: ການເຮັດ 🛛 🗃ີກິດດິນເຄັມ / ເປັນດ¶າ



ການເຊື້ອມໂຊມ ຂອງດິນ ທາງກາຍະພາບ - ນອີຊັງ



ການເຊື່ອມໂຊມ ທາງຊີວະພາບ - Bc: ການຫຼຸດຜອົນການປົກຫຸມຂອງພຶດ, Bq: ປະລິມານ / ອິນຊີວັດຖຸຫຼຸດລົງ



ການເຊື່ອມໂຊມ ຂອງນ້າ - Ha: ສະພາບ 🛛 🗑 🗒 Hs: ການປ[ງິນ 🗋 ປງ ປະລິມານ ນຄ_ ຄິດນ, Hg: ການປຽນ ປູລະດັບນຄ_ ຄິນ ຫຼື ນຄຼິບາດານ

ກຸ່ມການຄຸ້ມຄອງທີ່ດິນແບບຍື່ນຍິງ

ມາດຕະການ ການຄຸ້ມຄອງທີ່ດິນແບບຍືນຍິງ

Supplemental Irrigation in a Legume-Cotton Production System

- ລະບົບການປູກພືດ __ ູນວຽຟຸການປູກພືດ __ ູນວຽນປ
 ູນວຽນປອເລີອ, ການຖາງປອເຮັດ] B
- ການເກັບກັກ[®]ນ
- ການຄຸມຄອງຊິນລະປະທານ (ການສະ] ອງຟ, ລະບາຍ)



ມາດຕະການ ທາງການກະສີກຳ - A1: ພືດ / ການປົກຫຸມຂອງດິນ, A3: ການບ[າລຸງັສສາຊັມ]] ຄິດິນ (A 3.1: ບ[]ຫຼືມນ[] ັງ

ມາດຕະການ ທາງດ້ານຜືດຜັນ -

ມາດຕະການໂຄງສ້າງ - S5: ເຂື່ອນ[] ຟຟີ, ຝາຍເກັບນຄຼື, ອຄຼິງ, [] ອງ S7: ອຸປະກອນເກັບຮັກສາ, ສະ[] ອງຫຼື, ຊິນລະປະຫານ



ມາດຕະການ ທາງດ້ານການຄຸ້ມຄອງ - M2: ການຢຽືນ[] ຢ**ູ**ການຈັດການ ຄຸມີຄອງ / ລະດັບຄວາມ[] າ[] ∭

ເທັກນິກການ] 🛙 🖉 ຊຸບ

ຂໍກຳນົດທາງເທັກນິກ

- The dimensions are : -A: 46 meter
- -B: 35 meter
- -C: 29 meter
- -D: 140 degrees
- -E: 9 meter
- -F: 3.8 meter
- -G: 3.2 meter

The reservoir has a capacity of 9 000 cubic meter water. It is lined with 2847 square meter of polysheet to avoid water losses through infiltration.

The dimension related to the Winter-crop Chickpeas (in cm):

Spacing between rows (A) = 30 Spacing between plants within rows (B) = 15 

Author: Joren Verbist



The most important factor that affects the cost is the establishment

of the reservoir. However, this reservoir is able to irrigate 6.4

The dimensions related to the Soybean Cotton intercropping (in cm): Spacing between soybean within row (A) = 15

Spacing between rows of soybean (B) = 30

Spacing between a row of cotton and a row of soybean (C) = 60

Spacing between cotton within a row (D) = 60

Spacing between cotton and cotton = 90



hectares.

ປັດໄຈທີ່ສຳຄັນສຸດທີ່ສົ່ງຜົນກະທິບຕໍ່ຄ່າໃຊ້ຈ່າຍ

ການຈັດຕັ້ฏ 🛛 ລະມ 🛛 າລຸງັສສາ: ກິດຈະກອຼີ, ວັດຖຸດິບ 🗋 ລະຄອຼ 🛛 💆 ອຼອຍ

ການຄຳນວນ ປັດໃຈການຜະລິດ ແລະ ຄ່າໃຊ້ຈ່າຍ

- ຄິດ[ฏก] ฏก] ฐกย: ๓ฏิฏทิ(ที) ตีดตักปะตีบัด เต็ก[ม[ิสุยะ] าก ລะ ຫົວ[ฏย ຂອງພิฏทิ(5.4 hectares)
- ສະກຸນເງິນທີ [ສຼົຄົລັບການຄິດ] ລົຄ [ສົຄ]
- ອັດຕາ∏ ລກβີນ (ເປັນເງີນ ∏ ດລາ 1 USD = 73.52 INR
- ຄຄ[] ຮງງານສະເຊີ ຂອງການຈຄິງ] ຮງງານຫຼື[]37.5

ກິດຈະກຳການສ້າງຕັງ

- 1. Earth Work (🛛 ລຍະເວລາ ຄວາມຖີ]Summer Season (May))
- 2. Pitching (🛛 ລຍະເວລາ ຄວາມຖີ]Summer Season (May))
- 3. Polysheet Installation (🛛 ລຍະເວລາ ຄວາມຖີ]Summer Season (May))
- 4. Filling water (🛛 ລຍະເວລາ ຄວາມຖີ[]Rainy Season)
- 5. Installing Irrigation System (🛛 ລຍະເວລາ ຄວາມຖື🛛 At time of irrigation (as it is portable))

ປັດ'ເຈນຳເຂົ້າໃນການຈັດຕັງ ແລະ ຄ່າໃຊ້ຈ່າຍ (per 6.4 hectares)

Pond Excavation	m2	53.0	4000.0	212000.0	100.0
Sprinker Operation	Person Hour	1.0	37.5	37.5	100.0
ອຸປະກອນ					
Zero Tillage Seed Drill	Machine	1.0	55000.0	55000.0	100.0
Sprinkler System (portable)	System	1.0	28300.0	28300.0	100.0
ວັດສະດຸກໍສ້າງ					
Micron-Geo-Membrane	m2	2857.0	105.0	299985.0	100.0
ອື່ນໆ					
Tax (18%)	Total	1.0	38160.0	38160.0	100.0
ຕົ້ນທຶນທັງໝົດ ໃນການຈັດຕັ້ງປະຕິບັດ ເຕັກໂນໂລຍີ				633'482.5	
ถฏ]_ ฮูอียตัว[] ๊ถ สอีลับภามสอี]ตัก[เต็ภ]_ ม[] สยั มสะภุมเวิม[] ถลา				8'616.46	

ກິດຈະກຳບຳລຸງຮັກສາ

1. Sowing Chickpeas (🛛 ລຍະເວລາ ຄວາມຖີ🛛 November)

2. Sowing Cotton and Soybean (🛛 ລຍະເວລາ ຄວາມຖິ]June-July)

3. Weeding (🛛 ລຍະເວລາ ຄວາມຖີ🗍uly-August)

4. Fertilizer Application (🛛 ລຍະເວລາ ຄວາມຖີ🗍 une-July)

5. Micro-Nutrient Application (🛛 ລຍະເວລາ ຄວາມຖື🖸 Upon Inspection (June))

6. Irrigation ([] ລຍະເວລາ ຄວາມຖີ[]If needed (throughout growing season))

7. Pesticide Application (🛛 ລຍະເວລາ ຄວາມຖິ] uly-August)

8. Harvesting Chickpeas (🛛 ລຍະເວລາ ຄວາມຖິ]March)

9. Picking Cotton (🛛 ລຍະເວລາ ຄວາມຖີ🛛 October)

10. Threshing Soybean (🛛 ລຍະເວລາ ຄວາມຖີ🖸 October)

ປັດໄຈນຳເຂົ້າໃນການບຳລຸງອີກສາ ແລະ ຄ່າໃຊ້ຈ່າຍ (per 6.4 hectares)

ລະບຸ ປັດໃຈ ນຳເຂົ້າ ໃນການຜະລີດ	ຫີວໜ່ວຍ	ປະລິມານ	່ຕົນທຶນ ຕໍ ອົາວໝ່ວຍ (INR)	ຕົນທຶນທັງໝົດ ຂອງປັດໃຈ ຂາເຂົ້າ ໃນການ ຜະລິດ (INR)	% ຂອງຕົ້ນທຶນ ທັງໝົດ ທີ່ຜູ້ນຳ ໃຊ້ທີ່ດິນ ໃຊ້ ຈ່າຍເອງ
ແຮງງານ					
Total Labour (inc sowing, fertilizer, irrigation, threshing, etc)	Peron-Hours	640.0	37.5	24000.0	100.0
ອຸປະກອນ					
Sowing (Zero-Tillage Seeder)	Machine-Hours	57.0	500.0	28500.0	100.0
Threshing Soybean (Thresher)	Machine-Hours	51.0	300.0	15300.0	100.0
Sprayer (weeding)	Machine-Hours	51.0	300.0	15300.0	100.0
ວັດສະດຸໃນການປູກ					
Chickpeas Seeds	Kilogram	448.0	450.0	201600.0	100.0
Cotton Seeds	Kilogram	10.0	1400.0	14000.0	100.0
Soybean Seeds	Kilogram	256.0	150.0	38400.0	100.0
ຝຸ່ນ ແລະ ຢາຊີວະພາບ					
Micro-Nutrients (mixture of B, Zn, Mn)	Kilogram	6.4	900.0	5760.0	100.0
Nitrogen (Urea)	Kilogram	510.0	6.0	3060.0	100.0
Phosphorus (DAP)	Kilogram	640.0	25.4	16256.0	100.0
Potassium (MOP)	Kilogram	380.0	36.0	13680.0	100.0
Herbicide	Liter	6.4	470.0	3008.0	100.0
Fungicide	Liter	3.2	570.0	1824.0	100.0
Insecticide	Liter	3.2	580.0	1856.0	100.0
ອື່ນໆ					
Cost Irrigation	Total	6.4	250.0	1600.0	100.0
Irrigation Events	Event	19.0			100.0
Water (depth) per irrigation event	mm	300.0			100.0
ຕົນທຶນທັງໝົດ ທືໃຊ້ໃນການບຳລຸງຮັກສາ ເຕັກໂນໂລຍີ່				384'144.0	
ถฏ ฏิฏิยทั่ງ[๊ถ สฏิฉับภามบิวฉะบัดธภสาเท็ก] ม[ิิสยีบสะภุมเวิน] เ	າລາ			5'225.03	

ສະພາບ[] ວດສົມທຄົມະຊາດ

ສະເລ່ຍປະລິມານນ້ຳຝົ້ນປະຈຳປີ



ເຂດກະສີກຳ-ສະພາບອາກາດ ຄວາມຊຸມ ເຄີງຄວາມຊຸມ

ເຄັ່ງຄວາມຊຸມ ເຄັ່ງງີ ຫຼື ສີ] ຫຼື ສີ

ຂໍ້ມູນຈຳເພາະກ່ຽວກັບສະພາບອາກາດ

The is a decreasing trend of annual rainfall but some parts have an increasing trend of monsoon rainfall.

ຄວາມຄ້ອຍຊັ້ນ ພື້ມຫຼືສາບພຽງ (0-2%) ສູບແບບຂອງດິນ ສູບແບບຂອງດິນ **ລະດັບຄວາມສູງ** 0-100 **_ ີ**໋໋໋໋໋໋໋໋໋໋໋໋.s.l. ເຕັກໂນໂລຍີ່ໄດ້ຖືກນຳໃຊ້ໃນ ລັກສະນະສວດ

Wocat SLM Technologies

Supplemental Irrigation in a Legume-Cotton Production System

ອ≣ນ (3-5 %) ປານກາງ (6-10 %) ມີມືນ (11-15 %) ເນີນ(16-30%) ∐ິຊ (31-60%) ຊັນຫຼາຍ (>60%)	ຂອີກຕໍ ເງູກຕໍ ເງູກຕໍ ຊຸກຕໍ	101-500 □ ˆ a.s.l. 501-1,000 □ ˆ a.s.l. 1,001-1,500 □ ˆ a.s.l. 1,501-2,000 □ ˆ a.s.l. 2,001-2,500 □ ˆ a.s.l. 2,501-3,000 □ ˆ a.s.l. 3,001-4,000 □ ˆ a.s.l. > 4,000 □ ˆ a.s.l.	ລັກສະນະກີ⊡ ∎ ບ⊡ຽກຂ≣ງ
ຄວາມເລິກຂອງຕິນ ຕື⊵ຫຼາຍ (0-20 ຊັງຕີີີຼັດ) ີີ ຕືີ (21-50 ຊຕມ) ີ ເລີກປານກາງ (51-80 ຊຕມ) ເລິກ (81-120 ຊມ) ເລິກຫຼາຍ (> 120 cm)	ໂຄງສ້າງຂອງດິນ (ເທີງໝ້າດິນ) ຫຍາບ / ເບົາ (ດິນຊາຍ) 1 ປານກາງ (ດິນ] ງລດີນ] ດນ ບາງລະອຽດ /]ັກ (] ງັ⊅	ໂຄງສ້າງຂອງດິນ (ເລິກລົງ 20 ຊັງຕີແມັດ) ຫຍາບ / ເບົາ (ດິນຊາຍ) ∎ ປານກາງ (ດິນີ ງລດິນີ ຄຸນ ບາງລະອຽດ / [ັກ (] ງັນ	ທາດອິນຊີຢູ່ເທິງໜ້າດິນ ສູງ (> 3 %) ປານກາງ (1-3 %) ຫ¶【<1 %)
ນ້າໃຕ້ດິນ ເທິງຊັມ] _ ຄດິນ < 5 □ ັດ 5-50 □ ັດ > 50 □ ັດ	ມີນັ້າໝ້າດິນ ເກີນ ດີ 1ານກາງ ຫຸກຍາກ / ບີ⊡ມ	ຄຸນນະພາບນ້ຳ (ການຮັກສຳ) ມິນຄູດື⊡ ບ[ີມຄຼີດື⊡ (ຮຽກຮອງ] ซึ่ການ ບ[ີດນຫຼີ) ນາ] ເຊິຍີດີ ນການຜະິດກະສິກຄ ພຽງຢຄຼີງດຽງ (ຊິນລະປະທານ) ຜິດປົກກະຕິ ຄຸນນະພາບນຫຼື] າຍໃຫຼ ນຫຼື ຄິດິນ	ຄິນເຄັມເປັນບັນຫາບໍ? □ ມ□ນ ການເກີດນ້ຳຖ້ວມ □ □ ມ□ນ ບ⊡⊡ ມ⊡ນ
ຄວາມຫຼາກຫຼາຍຂອງຊະນິດ ສູງ ປານກາງ ຕຄື]	ຄວາມຫຼາກຫຼາຍຂອງສຶງທືມີ ຊີວິດ ຈັງ ເຖີ]		
ຄຸນລັກສະນະຂອງຜູ <u>ມ</u> ຄ] 🛱 🕅	່ນການນຄ⊡ ⊈້າກ⊡ ນ⊡ີລຢ		
ການວາງແນວທາງຕະຫຼັງຄ ກຸຼມີຕິນເອງ (ພລຽງ) ປະສົມປິນເປ(ກຸມີຕິນເອງ/ເປັນ ສີນຄອັ) ການຄອັ/ ຕະຫຼາດ	ລາຍຮັບທື່ໄດ້ມາຈາກກິດຈະກຳ ອື່ນໆ ທີ່ບໍ່ແມ່ນການຜະລິດກະສີ ກຳ ■ [] ອື່ຍກ໘າ 10 % ຂອງລາຍຮັບ ຫັງ[ິດ 10-50 % ຂອງລາຍຮັບທັງ[ິດ > 50 % ຂອງລາຍຮັບທັງ[ິດ	ລະດັບຄວາມອີງມີ ທຸກຍາກຫຼາຍ ສະເລຍ ຮັຖມີ ຮັຖມີຫຼາຍ	ລະດັບຂອງການຫັນເປັນກິນຈັກ ການ] ຢູ່ຮງງານິດ ສັດລາກ] ຫຼື ເຄື່ອງກິນຈັກ
ຍູ່ປະຈຳຫຼື ເລລັອນ ■ ຍ[ີ≣ຍ] ຫວ] ບບີຫຼື≊ງ-ເຄີ∏ປສິຍ] ບບຜີຍຕາມທອືມະຊາດ	ບຸກຄົນ ຫຼື ກຸ່ມ ບຸກຄົນ / ຄິວເຮືອນ ກຸມິ / ຊຸມຊິນ ການຮ <u>ຄິ</u> ມມື ການຈ _ື ຄງງານ (ບ[ິສັດ, ອົງການ ລັດຖະບານ)	សេព ៥មិ្លា 🗍 ៥ឌិ្ហាម	ອາຍຸ ເດັກນອຍ ຊາວ] ມີ ຕູລີງອາຍຸ
 ເຂດພື້ນທືການນໍາໃຊ້ຕໍຄົວເຮືອນ <0.5 ເຮັກຕາ 0.5-1 ເຮັກຕາ 1-2 ເຮັກຕາ 2-5 ເຮັກຕາ 5-15 ເຮັກຕາ 15-50 ເຮັກຕາ 100-500 ເຮັກຕາ 500-1,000 ເຮັກຕາ 1,000-10,000 ເຮັກຕາ > 10,000 ເຮັກຕາ 	ຂະໜາດ ຂະ] າດຍີຍ ຂະ] າດກາງ ຂະ] າດ] ຫຼືຍ	ເຈົ້າຂອງທີ່ດິນ ລັດ ບ[ິສັດ ຊຸມຊີນ / ບ _ີ ານ ກຸພ ບຸກຄົນ, ບ ີໂອສ ີ ໂ ບຸກຄົນ, ທີ່ຜຼີຕ _ີ ໂ	 ສິດທິການນໍາໃຊ້ທີ່ດິນ ເບີດກວຄົງ (ບ[ີງສນຈັດຕັຖິ) ຊຸມຊິນ (ທີ່ມີການຈັດຕັຖິ) ເຊັງ ບຸກຄົນ ສິດທິການນໍາໃຊ້ນ້ຳ ເບີດກວຄົງ (ບ[ີງສນຈັດຕັຖິ) ຊຸມຊິນ (ທີ່ມີການຈັດຕັຖິ) ເຊັງ ບຸກຄົນ
ການເຂົ້າເຖິງການບໍລິການ ແລະ ພື ສຸຂະພາບ ການສຶກສາ ການຊີຍເຫຼືອ ດຽນວິຊາການ ການຈຽງງານ (ຕິວຢອົງ, ການເຮັດກິດຈະກອ ອີງ ທີ່ຢີຼີ[]] ໝົງພະລັດກະສຶກອົງ ຕະຫຼາດ ພະລັງງານ ຖະ[ິນຫິນຫາງ] ລະການຂົນສີອ ການຕື່ມນອີ] ລະສຸຂາພິບານ ການບລິການ ຫາງດອັນການເງິນ	ຫຸກຍາກ ✓ ດີ ຫຸກຍາກ ✓ ດີ ຫຼາຍາກ ✓ ດີ		
ຜູກນະທູດ			
ຜົນກະທິບທາງສັງຄິມ ແລະ ເສດຖ ຜົນຜະລິດ ຄຸນນະພາບຂອງພືດ	ຫຼຸດລິງ	ມຂີ່ມ	

ຄວາມສຽງ ຕຜີຟຜະລິດ	ເນີມຂຶ້ນ
ຄວາມ] ່າ] 🏼 ຂອງຜົນຜະລິດ	ຫຼຸດລົງ
ມີນອີຊົນລະປະທານ	ຫຼຸດລົງ 🖌 🖌 ເນີມຼຂຶມ
ຄວາມຕອງການ ນຄຼືຊິນລະປະທານ	ເພີມຂຶ້ນ 🖌 🖌 ຫຼຸດລິງ
ຄ <u>ຄີ</u>] ອົ ຄິຍ ປັດ] ຈ ຫຼ ເຂົ້ຄີ] ນການຜະິ ລ ກະ ສີກຄິ	ເພີມຂຶ້ນ 🖌 🖌 ຫຼຸດລົງ
ລາຍຮັບ ຈາກການຜະລີດ ຄວາມຫຼາກຫຼາຍ ຂອງ] ຫຼືລາຍຮັບ	ຫຼຸດລົງ 🚽 ເພີ່ມຂຶ້ນ ຫຼຸດລົງ 🖌 🖌 ເພີ່ມຂຶ້ນ

ຫຼຸດຜ∃ນ

ຜິນກະທິບທາງສັງຄິມ ວັດທະນະທຳ

ການຄ_ືຟະກັນ ສະບຽງອາຫານ / ກຸມີຢູ່<u>ຖືມ</u> ກິນ

ຜົນກະທິບຕໍລະບິບນິເວດ

ປະລິມານນາ	ຫຼຸດລິງ	1	ເນີມຂຶ້ນ
ການຂຸດຄົມ / ເກັບກັກນໆ (ການ] ຫຼຂອງ ມ , ນໆິດຕຼັງ, ຫິມະ []ລະສື່ມີ])	ញ្ណូតជាឱ្យ	V	ປັບປຸງ
ການລະເຫີຍອາຍ	ເພີມຂຶ້ນ	1	ຫຼຸດລິງ
ຄວາມຊຸມຼຂອງດິນ	ຫຼຸດລິງ	1	ເພີມຂຶ້ນ
ການປົກ໌ຄຸມຂອງດິນ	ញ្ហូតជាឱ្យ	1	ປັບປຸງ
ການສູນເສຍດິນ	ເນີມຂຶ້ນ	1	ຫຼຸດລິງ
ວິງຈອນ ຂອງສານອາຫານ[] ນິ ດ	ຫຼຸດລິງ	1	ເພີມຂຶ້ນ
ອິນຊີວັດຖຸ∏ ນິ໘ / ຢູລຼົ⊔ຊັນີດິນ C	ຫຼຸດລິງ	1	ເພີມຂຶ້ນ
ການປົກຫຸ້ມຂອງພືດ	ຫຼຸດລິງ	1	ເພີມຂຶ້ນ
ມວນຊີວະພາບ / ຢູ ເ ທິງຊັ <u>ມ</u> ດິນ C	ຫຼຸດລິງ	1	ເພີມຂຶ້ນ
ການຄວບຄຸມສັດຕູພືດ / ພະຍາດ	ຫຼຸດລິງ	1	ເນີມຂຶ້ນ
ຜິນກະທິບ ຂອງ] ພ] ງຼີຫຼື ສູ	ເຜີມຂຶ້ນ	1	ຫຼຸດລິງ

ຜົນກະທິບນອກສະຖານທື

ທື ່ ເ ດ້ ຮັ ບ
ທີ່ໄດ້ຮັບ
ທື່າເດ້ອີບ
ທີ່ເດ້ຮີຍ
ທື່ເດ້ອັບ
ທີ່ໄດ້ຮັບ
ທີ່ເດ້ອີບ
ທີ່ເດ້ອັບ
ທີ່ເດ້ອັບ
ທີ່ເດ້ອີບ
ທື່ເດ້ອີບ
ທື່ເດ້ອີບ
ທີ່ເດ້ອີບ
ທີ່ເດ້ອີບ

ບຶດສະຫຼຸບ 🛛 ລະນິດຮຽນທີ 🛛 🛱ບ

ຄວາມເຂັ້ມແຂງ: ທັດສະນະມູມມອງ ຂອງຜູ້ນຳໃຊ້ທີ່ດິນ

• Efficient utilization of available resources.

• A profitable and sustainable system for rainfed areas.

ຈຸດອ່ອນ / ຂໍ້ເສຍ / ຄວາມສ່ຽງ: ທັດສະນະມູມມອງ ຂອງຜູ້ນຳໃຊ້ທີ່ດິນ ວິທີການແກ້ໄຂແນວໃດ

- ຍວາກເຮັກແຮງ: ທຼຸບສະກະກຳກາອງ ຮອງຜູ້ງອກຮູກໍກເອງ
- Optimal use of rainwater, making it a sustainable practice.
- Low risk of disaster or epidemic

- The implementation of the technology is difficult to implement for smallholder farmers. As they might lack a suitable area for the reservoir and/or the necessary funds. They establishment or improvement of water boards. This social capital can disseminate knowledge about SI. Also, it allows farmers to corporate more easily, e.g. paying for the construction of a reservoir jointly.
- The high initial costs for the construction of a reservoir and sprinkler installation. By granting subsidy for the technology. Or farmer may purchase the technology jointly, lowering the effective price per farmer.

ຈຸດອ່ອນ / ຂັເສຍ / ຄວາມສ່ຽງ: ທັດສະນະມຸມມອງ ຂອງຜູ້ປ້ອນຂໍ້ມູນ ເອງວິທີການແກ້ໄຂແນວໃດ

- Problem in areas of poor groundwater recharge.
 Water for the reservoir could be obtained by larger catchments instead of pumping up shallow ground water. However, there should be irrigated more frequently to ensure efficient water use.
- The high initial costs for the construction of a reservoir and sprinkler installation. By granting subsidy for the technology or farmer may purchase the technology jointly, lowering the effective price per farmer.

ເອກກະສານອ໗ງອີງ

ການລວຍລວມ

ວັນທີຂອງການປະຕິບັດ: Oct. 13, 2020

Editors

ການທິບທວນຄືນ William Critchley Rima Mekdaschi Studer

ປັບປຸງລ່າສຸດ: May 1, 2021

ບຸກຄົນທີ່ສຳຄັນ

Joren Verbist

Vinay Nangia - Research Team Leader - Soils, Waters and Agronomy Rajni Sinha - Research Associate Agronomy

ການບັນຍາຍລາຍລະອຽດ ໃນຖານຂໍ້ມູນ ຂອງ WOCAT

https://qcat.wocat.net/lo/wocat/technologies/view/technologies_5820/

ຂ້ມູນການເຊືອມໂຍງຂ້ມູນການຄຸ້ມຄອງການນໍາໃຊ້ຕິນແບບຍືນຍິງ n.a.

ເອກກະສານ ແມ່ນໄດ້ອຳນວຍຄວາມສະດວກໂດຍ

ສະຖາບັນ

• International Center for Agricultural Research in the Dry Areas (ICARDA) - ລີບານອນ

🛛 ຄŋານ

• ICARDA Institutional Knowledge Management Initiative

ເຊືອມໂຍງກັບ ຂໍ້ມູນຕ່າງໆ ທື່ກ່ຽວຂ້ອງທື່ມີ

- Vinay Nangia, Theib Oweis, Francis Kemeze, Julian Schnetzer. (1/3/2018). Supplemental Irrigation: A promising Climate-Smart Practice for Dryland Agriculture. Beirut, Lebanon: International Center for Agricultural Research in the Dry Areas (ICARDA).: https://hdl.handle.net/20.500.11766/9003
- Theib Oweis, Ahmed Hachum. (2/4/2012). Supplemental Irrigation: A Highly Efficient Water[Jse Practice. Beirut, Lebanon: International Center for Agricultural Research in the Dry Areas (ICARDA).: https://hdl.handle.net/20.500.11766/7524
- Vinay Nangia. (10/11/2020). Water for Food, Water for Life: The Drylands Challenge.: https://hdl.handle.net/20.500.11766/12017
- Kumar Shalander, B. Venkateswarlu, Khem Chand, Murari Mohan Roy. (20/11/2013). Farm level rainwater harvesting for dryland agriculture in India: Performance assessment and institutional and policy needs. Harbin, China: https://hdl.handle.net/20.500.11766/5259

This work is licensed under Creative Commons Attribution-NonCommercial-ShareaAlike 4.0 International

